

СВОТТА 10

$$\eta p^2 x = \frac{\varepsilon \psi^2}{1 + \varepsilon \psi^2 x}$$

21

$$\textcircled{B} \quad \frac{\sigma \omega^3 x}{\eta p x} + \frac{\varepsilon \psi x}{1 + \varepsilon \psi^2 x} = \sigma \psi x$$

$$\frac{\sigma \omega^3 x}{\eta p x} + \frac{\varepsilon \psi^2 x}{1 + \varepsilon \psi^2 x} \cdot \frac{1}{\varepsilon \psi x} = \sigma \psi x$$

$$\frac{\sigma \omega^3 x}{\eta p x} + \eta p^2 x \cdot \frac{1}{\varepsilon \psi x} = \sigma \psi x$$

$$\frac{\sigma \omega^3 x}{\eta p x} + \eta p^2 x \cdot \frac{1}{\frac{\eta p x}{\sigma \omega x}} = \frac{\sigma \omega x}{\eta p x}$$

$$\frac{\sigma \omega^3 x}{\eta p x} + \eta p^2 x \frac{\sigma \omega x}{\eta p x} = \frac{\sigma \omega x}{\eta p x}$$

$$\frac{\sigma \omega^3 x}{\eta p x} + \eta p x \sigma \omega x = \frac{\sigma \omega x}{\eta p x}$$

$$\sigma \omega^3 x + \eta \rho^2 x \sigma \omega x = \sigma \omega x$$

$$\sigma \omega x (\sigma \omega^2 x + \eta \rho^2 x) = \sigma \omega x$$

$$\sigma \omega x \cdot \underline{1} = \sigma \omega x$$

$$\sigma \omega x = \sigma \omega x$$



$$22. \textcircled{B} \quad \sigma \omega x + \sqrt{3} \eta \rho x = 2$$

$$\Rightarrow \underline{\sigma \omega x = 2 - \sqrt{3} \eta \rho x}$$

$$\eta \rho^2 x + \sigma \omega^2 x = 1$$

$$\eta \rho^2 x + (2 - \sqrt{3} \eta \rho x)^2 = 1$$

$$\eta \rho^2 x + 4 - 4\sqrt{3} \eta \rho x + 3\eta \rho^2 x = 1$$

$$4\eta \rho^2 x - 4\sqrt{3} \eta \rho x + 3 = 0$$

$$\underline{\underline{\text{Обозначим } \eta \rho x = t.}}$$

$$4t^2 - 4\sqrt{3}t + 3 = 0$$

$$\Delta = (-4\sqrt{3})^2 - 4 \cdot 4 \cdot 3$$

$$\Delta = 48 - 48 = 0$$

$$t = \frac{4\sqrt{3}}{8} = \frac{\sqrt{3}}{2}$$

$$\eta \rho x = \frac{\sqrt{3}}{2}$$

$$\sigma_{WX} = 2 - \sqrt{3} \cdot \frac{\sqrt{3}}{2}$$

$$\sigma_{WX} = 2 - \frac{3}{2}$$

$$\sigma_{WX} = \frac{1}{2}$$

$$\varepsilon_{YX} = \frac{u_{YX}}{\sigma_{WX}} = \frac{\frac{\sqrt{3}}{2}}{\frac{1}{2}} = \sqrt{3}$$

$$\varepsilon_{YX} = \sqrt{3}$$

$$\sigma_{YX} = \frac{1}{\sqrt{3}}$$

$$23. \textcircled{B} \quad \varepsilon \varphi \omega = \frac{2k}{k+s}$$

$$\sigma \varphi \omega = \frac{4k}{s-k}$$

$$\varepsilon \varphi \omega \cdot \sigma \varphi \omega = 1$$

$$\frac{2k}{k+s} \cdot \frac{4k}{s-k} = 1$$

$$\frac{8k^2}{(k+s)(s-k)} = 1$$

$$8k^2 = (k+s)(s-k)$$

$$8k^2 = \cancel{sk} - k^2 + 2s - \cancel{sk}$$

$$k^2 + 8k^2 = 2s$$

$$9k^2 = 2s$$

$$k^2 = \frac{2s}{9}$$

$$k = \frac{s}{3} \quad k = -\frac{s}{3}$$

26.

$$\eta \mu x - \sigma \omega x = \frac{1}{2}$$

(a) $\eta \mu x \sigma \omega x$

$$(\eta \mu x - \sigma \omega x)^2 = \left(\frac{1}{2}\right)^2$$

$$\eta \mu^2 x - 2 \eta \mu x \sigma \omega x + \sigma \omega^2 x = \frac{1}{4}$$

$$1 - 2 \eta \mu x \sigma \omega x = \frac{1}{4}$$

$$-2 \eta \mu x \sigma \omega x = \frac{1}{4} - 1$$

$$-2 \eta \mu x \sigma \omega x = -\frac{3}{4}$$

$$\eta \mu x \sigma \omega x = \frac{3}{8}$$

(B) $\frac{1}{\eta \mu x} - \frac{1}{\sigma \omega x} = \frac{\sigma \omega x}{\eta \mu x \sigma \omega x} - \frac{\eta \mu x}{\eta \mu x \sigma \omega x}$

$$= \frac{\sigma \omega x - \eta \mu x}{\eta \mu x \sigma \omega x} = \frac{-\frac{1}{2}}{\frac{3}{8}} = -\frac{8}{6}$$

$$\textcircled{8} \quad |\epsilon\psi x - \sigma\psi x| = \left| \frac{\eta\psi x}{\sigma\omega x} - \frac{\sigma\omega x}{\eta\psi x} \right|$$

$$= \left| \frac{\eta\psi^2 x}{\eta\psi x \sigma\omega x} - \frac{\sigma\omega^2 x}{\eta\psi x \sigma\omega x} \right|$$

$$= \left| \frac{\eta\psi^2 x - \sigma\omega^2 x}{\eta\psi x \sigma\omega x} \right| = \left| \frac{(\eta\psi x - \sigma\omega x)(\eta\psi x + \sigma\omega x)}{\eta\psi x \sigma\omega x} \right|$$

$$= \frac{|\eta\psi x - \sigma\omega x| \quad |\eta\psi x + \sigma\omega x|}{|\eta\psi x \sigma\omega x|} = \frac{\frac{1}{2} \cdot |\eta\psi x + \sigma\omega x|}{\frac{3}{8}} = \frac{\frac{1}{2} \cdot \frac{\sqrt{7}}{2}}{\frac{3}{8}}$$

$$\begin{aligned} \rightarrow (\eta\psi x + \sigma\omega x)^2 &= \eta\psi^2 x + 2\eta\psi x \sigma\omega x + \sigma\omega^2 x = \\ &= 1 + 2 \cdot \frac{3}{8} = 1 + \frac{6}{8} = \frac{14}{8} = \frac{7}{4} \end{aligned}$$

$$\eta\psi x + \sigma\omega x = \frac{\sqrt{7}}{2}$$

$$\textcircled{d} \quad \eta p^3 x - \sigma w^3 x =$$

$$= (\eta p x - \sigma w x) (\eta p^2 x + \eta p x \sigma w x + \sigma w^2 x)$$

$$= \frac{1}{2} \left(1 + \frac{3}{8} \right) = \frac{1}{2} + \frac{3}{16} = \frac{11}{16}$$

29. Av $0 \leq x < \frac{\pi}{2}$

$$\text{Nds} \quad \frac{\sqrt{1-\sin x} - \sqrt{1+\sin x}}{\sqrt{1-\sin x} + \sqrt{1+\sin x}} = \frac{\sin x - 1}{\sin x}.$$

$$\frac{(\sqrt{1-\sin x} - \sqrt{1+\sin x})(\sqrt{1-\sin x} - \sqrt{1+\sin x})}{(\sqrt{1-\sin x} + \sqrt{1+\sin x})(\sqrt{1-\sin x} - \sqrt{1+\sin x})} =$$

$$= \frac{(\sqrt{1-\sin x} - \sqrt{1+\sin x})^2}{\sqrt{1-\sin x}^2 - \sqrt{1+\sin x}^2} =$$

$$= \frac{\sqrt{1-\sin x}^2 - 2\sqrt{1-\sin x}\sqrt{1+\sin x} + \sqrt{1+\sin x}^2}{\cancel{1-\sin x} - \cancel{1} - \sin x}$$

$$= \frac{1 - \cancel{\sigma\omega x} - 2\sqrt{(1 - \sigma\omega x)(1 + \omega\omega x)} + 1 + \cancel{\sigma\omega x}}{-2\sigma\omega x}$$

$$= \frac{2 - 2\sqrt{1 - \sigma\omega^2 x}}{-2\sigma\omega x} =$$

$$= \frac{2 - 2\sqrt{1 - \sigma\omega^2 x}}{-2\sigma\omega x} =$$

$$= \frac{2 - 2\sqrt{1 - \sigma\omega^2 x}}{-2\sigma\omega x} = \frac{2 - 2\sqrt{1 - \sigma\omega^2 x}}{-2\sigma\omega x} =$$

$$= \frac{2(1 - \sqrt{1 - \sigma\omega^2 x})}{-2\sigma\omega x} = \frac{\sqrt{1 - \sigma\omega^2 x} - 1}{\sigma\omega x}$$

$$\eta p(-x) = -\eta p x$$

$$\sigma w(-x) = \sigma w x$$

$$\varepsilon \varphi(-x) = -\varepsilon \varphi x$$

$$\sigma \varphi(-x) = -\sigma \varphi x$$

$$\eta p(n-x) = \eta p x$$

$$\sigma w(n-x) = -\sigma w x$$

$$\varepsilon \varphi(n-x) = -\varepsilon \varphi x$$

$$\sigma \varphi(n-x) = -\sigma \varphi x$$

$$\eta p(n+x) = -\eta p x$$

$$\sigma w(n+x) = -\sigma w x$$

$$\varepsilon \varphi(n+x) = \varepsilon \varphi x$$

$$\sigma \varphi(n+x) = \sigma \varphi x$$

$$\eta p\left(\frac{n}{2}-x\right) = \sigma w x$$

$$\sigma w\left(\frac{n}{2}-x\right) = \eta p x$$

$$\varepsilon \varphi\left(\frac{n}{2}-x\right) = \sigma \varphi x$$

$$\sigma \varphi\left(\frac{n}{2}-x\right) = \varepsilon \varphi x$$

Ενότητα 11

$$11. \frac{\eta p(2n+\theta) \cdot \sigma \varphi\left(\frac{3n}{2}-\theta\right) \sigma w(3n+\theta)}{\sigma w\left(\frac{3n}{2}+\theta\right) \cdot c \varphi(n+\theta) \sigma w\left(\frac{n}{2}-\theta\right)}$$

$$\bullet \eta p(\cancel{2n}+\theta) = \eta p \theta$$

$$\bullet \sigma \varphi\left(\frac{3n}{2}-\theta\right) = \sigma \varphi\left(\cancel{\frac{2n}{2}} + \frac{n}{2} - \theta\right) =$$

$$= \sigma \varphi\left(n + \frac{n}{2} - \theta\right) = \sigma \varphi\left(\frac{n}{2} - \theta\right) = c \varphi \theta$$

$$\bullet \sigma w(3n+\theta) = \sigma w(\cancel{2n} + n + \theta) = \sigma w(n+\theta) = -\sigma w \theta$$

$$\bullet \sigma w\left(\frac{3n}{2}+\theta\right) = \sigma w\left(\cancel{\frac{2n}{2}} + \frac{n}{2} + \theta\right) = \sigma w\left(n + \frac{n}{2} + \theta\right)$$

$$= -\sigma w\left(\frac{n}{2} + \theta\right) = -\sigma w\left(\frac{n}{2} - (-\theta)\right) =$$

$$= -\eta p(-\theta) = +\eta p \theta$$

$$\cdot \varepsilon \varphi(n+\theta) = \varepsilon \psi \theta$$

$$\cdot \sigma \omega(\frac{n}{2}-\theta) = \psi \theta$$

$$\begin{array}{r} \text{Apr} \quad \frac{\psi \theta \quad \varepsilon \psi \theta \quad (-\sigma \omega \theta)}{\psi \theta \quad \varepsilon \psi \theta \quad \psi \theta} \end{array}$$

$$\text{Apr} - \sigma \psi \theta$$

Ενότητα Μαθημα

10

⑥

⑧ α γ

⑨ α

⑩ α

⑪

⑫ α γ .